1. 3ab? - 15a%b 5 Q5B A-2?

@ ab(a-b) @ 3a(b*-b) ® 3ab(b - 5a)

@ ab(a+b) ® 3a?(b? - 5b)



O (x+y)(x-y)(x+1) @ (x+1)(x-y)y-1)
® (x+1)(y-1)(x+y) @ (x+1)(x-1)r-1)
® x2(y-1)



@ x4+1 B a+1

B x+a

@ x—a



2 2= 27ax? - 12ay = nt2 7 01283 oF AL?

@D (3ax - 3y)? @ 3%(3ax - 4ay)?
® 3a(3%ax — 4ay)? @ 3a(3x+ 2y)(3x —2y)

® 3(9ax? - 4ay?)



5. (x+4)2-3(x+4) E ALt

O (x+4)(x-1) @ (x-4)(x+1) ® (x=7)(x+4)
@ x+4H)x+1) @ (x=-7)(x+1)



@ xy(x-y)

@ x3y

X
@ x%-y?

® x(x+y)



7. (x+2)%-(x-1)(x+2) & #7Hste] 7heks] LreRHH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2

@ 3x+6 ® 3x-6



@ (x—y-1)(x+y+6) @ (x=y+1)(x—y-6)
@ (x+y+2)(x—y-13) @ (x-y-2)(x+y+3)

® (x—-y-1)(x-y+6)






10.

(x - 2y)(x =2y —3) - 102 QIHa)5HA
(x=2y+m) (x—2y+n) D o, mn 2] FL-27

@ -10 @ 3 3 10 @ 2



11 (2x4+1)2 = (x=2)? = Bx+a)(x+b) 2 W, a+3b°] Fr-& T2

D 4 ® 6 B 7 @ 8 ®B 9



12. ab-b-a+ 1< 827 A-Eoft 222

@ (a-b)(b+1) @ (a+b)(b-1) ® (a-1)(b-1)
@ (a+1)(b-1) ® (a-1)(b+1)



AaPx—a®-x+1S AT

&

13. o

ol
S
A
=
IS

o
K
A
o
<
Y

© a+1

O x-1

@ x?+1
® x-2

@ a-1

® 0O, ® 0,606

© 006
@ ®, O

® ©,e,0



14.

X = 2x—y? 4+ 2y & Rk EY
(x+ay)(x—by +c) 7F HAk ol a + b+ ¢ 2] G227



@ x(x-6)
@ (x-4)(x+2)

@ (x+2)(x-6)
® x(x-4)



(x+4)2-2(x+4)-159] x&] A7+ 1 <

16.

449 e

Qo]
=

=
s T

s of

1=]
L

@ 2x-6 ® 2x+8

B 6

D 2x+6

@ 2 +6



@ (b-a) ® (a+b)

® 2a

® (2a-b)

@ (2a+ D)



+3)2-22x(x+3)+72 7} (x + a) (x + b) (x + ¢) (x + d)
2w, a+b+c+do] F2?



19.

8-Ta(a-2)+a*(a-2)>=(a+A)(a+B)(a+C)(a+D) 2L
S, A+B+ C+D E stofeh

Y
=¥



20. (a+b)(a+b+3)+2F AFEfFS o, &2 A2?
@ (a-b+1)(a-b+2) @ (a+b+1)(a+b+2)
® (a-b+1)(a+b+2) @ (a-b-1)(a-b-2)

® (a+b-1)(a+b-2)



21.




22, xy-x+y-1=(x-a)(y+b)7t 4L W, a + b 2 gh= 51
2k (2, b < 0)

R Eiatb=



23.

ab +5a—-4b-30 = 0
(F,a>0,b>0)

DO ERE



24, (x-2)(x-3)(x-4)(x-5)+1=(x*+ax+b)>L W, a bo] S
ool et

Ll Hia=

YERE



25. (x+y+2)?2-(x-y-2)2E& As-EdlctH?

@ 2x(y +2) @ 4x(y-2) ® x(3y+2)

@ 4x(y+2) ® 4y(x+2)



26. (a+2b)2-25¢2 = (a+] | b+ |e)at o[ Je)y A ]

oFol ke 48 Aeth= Holet.

a=
ue
B«

B =






28.

X2 = 9y? 4 4x + 12y & ASESSHH (Ax + By) (Cx + Dy +4) 7}
Hoha ek A+ B+ C + D 9] 3& Fatofet

s
=¥



29, x+a=2 x—a=79 ", x*-a®+ax?-a*xE?

D 14 ® 20 B 24 @ 928 B 32



30.

@ (x-a)(y-b)
@ (x+a)(y+b)

@ (x—a)(y+b)

® (x+a)(y-b)



31. 20x+2) 4+ (x+2)(Bx—1) -

(B3x-1)2 =
ab + cd ©) 3+ T (H, a,

c = %)

(ax-i-b)(c)c_,_d) OE] ]IH’

D -1 @ 3 ® 0 @ 2



32. o F A2 -xty-xp? +xy 9 AFED

@ x-1 @ x+1 ® y+1 @ x+vy ® x-y



33.

2(x+2)% +2(y - 3)*

(x+2)(y-3)

Hix—-y=

=4 4o, x-y 9] & okt



